[ Efficiency vs vertpos |

0.4

0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02
0.0

Ja)

VS

[y

0.95

1072

Efficiend

10

10

—=*— DQM_TT__mkFit-DQM_time_orig2
—— DQM_TT__mkFit-DQM_time_mod2

0.2
0.18
0.16
0.14
0.12

0.1

0.08
0.06)
0.04
0.02

L 0OF

...............................

.................

.................

[y

0.95!

[ Efficiency vs. sim PV z |

0.1
0.09
0.08
0.07
0.06)
0.05
0.04
0.03
0.02

0.0

0

FRVS)

iy

=10

o R
.................. P A S Y S
. H N P R R eeeeiebe
. H N P R R .
.................................... .

—
A PR P [
U P P S 5 SR -
-8 -6 -4 -2 O 2 4




	Contents
	Page 1


